Double Pedestal Surface REV# 1
Mount Table Instructions 4-10-2017
BM1270




Double Pedestal Surface

Mount Table Instructions

BM1270
> /@

(B
<&
2

TOP SUPPORT FRAME

SEAT SUPPORT FRAME
RIGHT

SEAT SUPPORT FRAME
LEFT

i ®
®

CENTER POST

23" CENTER CHANNEL

S

PLASTIC BOARDS

2

CROSS BRACE

6

TUBE SUPPORTS

HARDWARE &

2/8

TOOLS REQUIRED
FOR ASSEMBLY




Double Pedestal Surface
Mount Table Instructions
BM1270

3-1/4" X 5/16"
CARRIAGE BOLT

REQUIRED TOOLS
(NOT INCLUDED)
1-7/16" SOCKET
1-9/16" WRENCH
1-9/16" SOCKET
1-1/2" SOCKET

1 - 5/8" WRENCH

1 - 5/8" SOCKET
1-1/8" DRILL BIT

\ 1 - DRILL

8
6" X 7/16"
@\\ S HEX BOLTS
e, oo B O\
L __®
b )
18 X318 3/8" HEX NUT 3
EXTRA THICK WASHER

2
5"X 5/16"
HEX BOLT O
~ 23
o 8 5/16" SERRATED
7/16" HEX NUT FLANGE NUTS
®
P =
| e
L )
8 1" ]5/1 6"
- " " X
I_]A]C/54S(>Z< R]E/\fr\/S HEX BOLTS

NOTE: IT IS IMPORTANT TO KEEP ALL BOLTS FINGER TIGHT
DURING ASSEMBLY UNTIL ENTIRE TABLE IS ASSEMBLED

HARDWARE &
TOOLS REQUIRED 3/8
FOR ASSEMBLY




Double Pedestal Surface

Mount Table Instructions
BM1270

STEP 1 Center Post Assembly

 Stand the center post (A) upright

* Bolt one seat support frame LEFT (C) and one
seat support frame RIGHT (D) to opposite sides

with four 5-3/4" x 7/16" hex bolt (K) and four 7/16"

hex nuts (L)
* Repeat for the remaining center post (A)

STE

P 2 Table Top Support Assembly

Slide the top support frame (B) over the top of the

center post (A) with the holes In the top of the
angle iron on the same side as the seat supports

Align the holes in the center post (A) with the holes

in the sides of the top support frame (B)
Secure the top support frame (B) to the center

post (A) with four 1-1/8" x 3/8" hex bolts (N) and four

3/8" hex nuts (O)
Repeat for the remaining center post (A)

~

FRAME
ASSEMBLY




Double Pedestal Surface STEP 4 Table Top Assembly \

Mount Table Instructions Place one plastic board (E) on top of extra thick
BM1270 washers (P) and one tube support (H) and top support
frame (B)
 Secure the plastic board (E) to the top support frame (B)
STEP 3 Table Top Assembly with 3-1/4" x 5/16" carriage bolts (I) and 5/16" flange nuts (M)

Place one plastic board (E) on top of extra
thick washers (P) in the center of the top
support frame (B)

 Secure the plastic board (E) to the top
support frame (B) with 3-1/4" x 5/16" carriage
bolts (I) and 5/16" flange nuts (M)

e Repeat for other side of table top

TABLE TOP
ASSEMBLY




Double Pedestal Surface STEP 6 Cross Brace Assembly \
Mount Table Instructions *  Place the 5/16" x 1" hex bolt (R) through the two cross

BM1270 braces (G) and 23" center channel (F)
* Hand fighten with a flange nut (M) See CIRCLE A
STEP 5 Top Assembly *  Aftach the cross braces [G) to the center posts with
«  Place the 23" center channel (F) in the center of 5/16" x 5" hex bolfs (J) and secure with a flange nut
the tabletop assembly (M) See CIRCLEB

*  Mark the center cross sections of the boards (E) at
the hole locations on the center channel (F)

Dirill 6 additional 1/8" pilot holes 1/2" deep in the | — [ A\ e |
center of the cross section of the boards (E) 2

« Withthe 1-1/4” x 1/4" lag screws (Q) secure the 23"
center channel (F) to the boards (E)

DRILL HOLE = =
LOCATIONS - Q

CIRCLE A
CIRCLEB (A)

TABLE TOP 6/8

ASSEMBLY




Double Pedestal Surface STEP 7 Seat Assembly

Mount Table Instructions Place one plastic board (E) on top of two tube supports (H) and
BM1270 seat support frame (C or D)
 Secure the plastic board (E) to the seat support frame (C or D)
with 3-1/4" x 5/16" carriage bolts (I) and 5/16" flange nuts (M)
* Repeat for other seat
Square all components and tighten
 Secure table to ground with proper hardware before use

SEAT
ASSEMBLY 7/8




Double Pedestal
Surface Mount Table

Specifications BM1270

REV# 1
4-10-2017
- 72.00 o
I : -
X
° ° o~
A
S
@
'(l\ E %
% o ] \ X.
o ° o
Q
3 MOUNTING
PLATE DETAIL
| | L\o oj
—1_1.50
" B 16.00
~O
oy

[ 1 [} [ I . Il /\\

= TF ol | < I
/2\ X 6.32 o
=1 0y !
| VI |

L | =
el '\u 3 | — )
g 50.00 R ° § S 2
- 3800 . [ ] — f —
I: 70.00 =I [ I

ALL DIMENSIONS ARE SHOWN IN INCHES SIDE



	PAGE 1
	Drawing View225

	PAGE 2
	Drawing View2
	Drawing View4
	Drawing View85
	Drawing View91
	Drawing View92
	Drawing View95
	Drawing View98
	Drawing View109
	Drawing View182
	Drawing View188
	Drawing View190
	Drawing View203
	Drawing View226
	Drawing View227
	Drawing View228

	PAGE 3
	Drawing View100
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View107
	Drawing View193
	Drawing View196
	Drawing View201
	Drawing View230
	Drawing View249

	PAGE 4
	Drawing View231
	Detail View  (1 : 10)
	Drawing View233
	Drawing View234
	Drawing View236
	Detail View  (1 : 10)
	Drawing View238
	Drawing View239

	PAGE 5
	Drawing View242
	Detail View  (1 : 10)
	Drawing View246
	Detail View  (1 : 10)
	Drawing View248

	PAGE 6
	Drawing View255
	Drawing View256
	Detail View  (1 : 14)
	Detail View AY (1 : 2)
	Detail View AZ (1 : 8)
	Drawing View260
	Drawing View261
	Detail View BA (1 : 10)
	Drawing View263
	Detail View BD (1 : 5)

	PAGE 7
	Drawing View267
	Detail View  (1 : 10)
	Drawing View269

	SPECS
	Drawing View223
	Detail View J (1 : 12)
	Drawing View270
	Drawing View271
	Drawing View272
	Drawing View273


